

الف) $\cos 2n = 2\sin - 1 = 1 - 2\sin^2 \Rightarrow 2\sin^2 + 2\sin - 2 = 0 \Rightarrow (\sin - 1)(\sin + 2) = 0$.7

$\Rightarrow \sin \begin{cases} -\frac{1}{2} \\ \frac{1}{2} \end{cases} \Rightarrow x = \begin{cases} 2k\pi + \frac{7\pi}{6} \\ 2k\pi + \frac{5\pi}{6} \end{cases}$.8

ب) $\cos 2n + \cos n - 2 = 2\cos^2 n + \cos n - 2 = (2\cos + 2)(\cos - 1) = 0 \Rightarrow$.9

$\cos n \begin{cases} -\frac{1}{2} \\ 1 \end{cases} \Rightarrow n = 2k\pi$

$\sin^2 - \cos^2 = (\sin + \cos)(\sin - \cos) = -\cos 2n = \sin 2n = 2\sin \cos \Rightarrow$.10

الف) $\sin n = -\frac{1}{2} \Rightarrow n = \begin{cases} 2k\pi + \frac{7\pi}{6} \\ 2k\pi + \frac{11\pi}{6} \end{cases} \Rightarrow x = \begin{cases} k\pi + \frac{7\pi}{6} \\ k\pi + \frac{11\pi}{6} \end{cases}$.11

ب) $2\cos^2 n - 1 + 2\sin \cos n = 0 \Rightarrow \cos 2n + \sin 2n = 0 \Rightarrow \cos 2n = -\sin 2n \Rightarrow$.12

$\cos 2n = \cos(\pi - 2n) \Rightarrow n = \begin{cases} 2k\pi + \frac{\pi}{2} - 2n \\ 2k\pi - \frac{\pi}{2} + 2n \end{cases} \Rightarrow n = k\pi + \frac{\pi}{4}$.13

$\frac{\cos n (2\cos n + 1)}{\sin n} = \frac{1}{\sin n} \xrightarrow{\sin n \neq 0} 2\cos^2 n + \cos n - 1 = 0 \Rightarrow$.14

الف) $\Rightarrow (2\cos - 1)(\cos + 1) = 0 \Rightarrow \cos n \begin{cases} \frac{1}{2} \\ -1 \end{cases}$.15

$\cos n = \frac{1}{2} \Rightarrow n = 2k\pi \pm \frac{\pi}{3}$.16

ب) $2\sin^2 - 2\sin \cos + \cos^2 = 2 \xrightarrow{\div \cos^2} 2\tan^2 - 2\tan + 1 = \frac{2}{\cos^2} = 2(1 + \tan^2) \Rightarrow$.17

$\Rightarrow 2\tan^2 - 2\tan + 1 = 2\tan^2 + 2 \Rightarrow 2\tan + 1 = 0 \Rightarrow \tan n = -\frac{1}{2} \Rightarrow n = k\pi - \frac{\pi}{2}$.18

$$\cos(\pi/2 + n) \cos(n - \pi/2) \xrightarrow{\pi/2 + n - \pi/2 = n - \pi/2} \cos(\pi/2 + n) \cos(\pi/2 - n) \quad \text{ع ٨}$$

$$\Rightarrow \cos(\pi/2 + n) \sin(\pi/2 + n) = \frac{1}{r} \sin(\pi/2 + n) = \frac{1}{r} \Rightarrow \cos n = \frac{1}{r}$$

$$\Rightarrow r_n = 2k\pi \pm \pi/2 \Rightarrow n = k\pi \pm \pi/4 \quad \text{الف}$$

$$\cos(r_n - \pi/4) = \sin(n) = \cos(\pi/2 + n) \Rightarrow r_n - \pi/4 = 2k\pi \pm (\pi/2 + \pi/4) \quad \text{ب}$$

$$r_n = 2k\pi - \pi/4 \Rightarrow n = k\pi - \pi/4 \quad \text{ع ١٠}$$

$$\frac{r \sin n \cos r_n + \sin r_n}{\sin r_n} - \sin^2 n = \frac{\sin r_n (1 + \cos r_n)}{\sin r_n} - \sin^2 n = \cos r_n - 1 - \sin^2 n = \cos n \quad \text{ع ١١}$$

$$\Rightarrow \sin^2 n = 1 - \cos^2 n \Rightarrow \cos r_n - 1 = -\cos^2 n \Rightarrow \cos r_n = 1 - \cos^2 n = \sin^2 n \Rightarrow \cos r_n = \pm \frac{\sqrt{1 - \cos^2 n}}{r} \Rightarrow n = k\pi \pm \pi/2 = k\pi/2 + \pi/2 \quad \text{ع ١٢}$$

$$\text{فصل ١: } \frac{\sin n}{1 + \cos n} = \tan n/2 \quad \text{ع ١٤}$$

$$\tan n/2 = \cot n/2 = \tan(\pi/2 - n/2) \Rightarrow n/2 = k\pi + \pi/2 - n/2 \Rightarrow n = k\pi + \pi/2$$

$$\Rightarrow n = 2k\pi + \pi \Rightarrow n = -\pi, +\pi \Rightarrow |\pi - (-\pi)| = 2\pi \quad \text{ع ١٥}$$

$$\cos^2 n - 1 = \sin^2 n \cos r_n = \sin^2 n \xrightarrow{\sin n = 0} \cos r_n = 1 \Rightarrow \quad \text{ع ١٧}$$

$$r_n = 2k\pi \Rightarrow n = 2k\pi/2 \Rightarrow n = 0, \pi, \pi/2, 3\pi/2 \quad \text{ع ١٨}$$

$$\sin n = 0 \Rightarrow n = k\pi$$

۲۷

17 September 2024
Tuesday

سه شنبه ۱۳ ربيع الاول ۱۴۴۶

۱۴۰۳/۶/۲۷

شهر رپور

$$\frac{1 - \tan \theta_n}{1 + \tan \theta_n} = \tan(\pi/2 - \theta_n) = \tan \theta_n \Rightarrow \theta_n = k\pi + \pi/2 - \theta_n \Rightarrow -1$$

$$\Rightarrow \theta_n = k\pi/2 + \pi/4$$

.7

$$1 + \sin \theta_n = 1 \Rightarrow \sin \theta_n = 0 \Rightarrow \theta_n = k\pi \Rightarrow \cos \theta_n = 1 \Rightarrow \cos \theta_n = \cos(\pi/2 - \theta_n) \quad 9$$

.8

$$\Rightarrow \theta_n = 2k\pi + (\pi/2 - \theta_n) \Rightarrow \theta_n = \frac{k\pi}{2} + \frac{\pi}{4} \quad \left\{ \begin{array}{l} \frac{k\pi}{2} + \frac{\pi}{4} \\ k\pi - \pi/2 \end{array} \right\} \Rightarrow \theta_n = \frac{\pi}{4}, \frac{5\pi}{4}, \frac{9\pi}{4}, \frac{13\pi}{4}, \dots$$

$$\frac{3\pi}{2}$$

پایان

.9

.10

$$(1 + \sin \theta_n)(1 - \sin \theta_n) = 1 - \sin^2 \theta_n = \cos^2 \theta_n = 1 \Rightarrow \cos \theta_n = \pm 1$$

.11

$$\Rightarrow \theta_n = 2k\pi + \pi \Rightarrow \theta_n = k\pi + \pi/2 \Rightarrow \theta_n = \frac{\pi}{2}, \frac{3\pi}{2}, \frac{5\pi}{2}, \dots$$

$$\theta_n = \pi/2, 3\pi/2$$

.12

ب) حالت اول: $\sin \theta_n = 1 \Rightarrow \theta_n = 2k\pi + \pi/2$

حالت دوم: $\sin \theta_n = -1 \Rightarrow \theta_n = 2k\pi + 3\pi/2$

.13

.14

$$\theta_n = \pi, 3\pi/2$$

.15

.16